

Fixed Point of Multivalued Operators on Partial Metric Spaces

P. Amiri* and Sh. Rezapour

Department of Mathematics, Azarbaijan Shahid Madani University, Azarshahr, Tabriz, Iran.

Received 2 May 2012

Abstract. In this paper, we prove some results on fixed point of multivalued operators on partial metric spaces.

Key Words: Fixed point, multivalued operator, partial metric space.

AMS Subject Classifications: 47H10, 54H25

1 Introduction

In 1992, Matthews introduced partial metric spaces as a generalization of the metric space [8]. In the partial metric space the distance of a point from itself is not necessarily zero [8]. Recently, these spaces have been considered by some authors [1, 2, 11]. There are a lot of fixed and common fixed point results in different types of spaces. After the remarkable contribution of Matthews, many authors have studied on partial metric spaces and its topological properties (see, e.g., [4–7, 10, 12, 13]). Then, Valero [14], Oltra and Valero [9] and Altun et al. [1] gave some generalizations of the result of Matthews. Also, Romaguera proved a Kirk type fixed point theorem on partial metric spaces [11].

A partial metric is a function $p: X \times X \rightarrow [0, \infty)$ satisfying the following conditions:

- (a) $p(x, y) = p(y, x)$,
- (b) If $p(x, x) = p(x, y) = p(y, y)$, then $x = y$,
- (c) $p(x, x) \leq p(x, y)$,
- (d) $p(x, z) + p(y, y) \leq p(x, y) + p(y, z)$,

for all $x, y, z \in X$. A space X with a partial metric p is called a partial metric space denoted by (X, p) . If p is a partial metric p on X , then the function $d_p: X \times X \rightarrow [0, \infty)$ given by

$$d_p(x, y) = 2p(x, y) - p(x, x) - p(y, y)$$

*Corresponding author. *Email addresses:* p_amiri61@yahoo.com (P. Amiri), sh.rezapour@azaruniv.edu (Sh. Rezapour)

is a metric on X . Also, each partial metric p on X generates a T_0 topology τ_p on X with a base of the family of open p -balls $\{B_p(x, \varepsilon) : x \in X, \varepsilon > 0\}$, where $B_p(x, \varepsilon) = \{y \in X : p(x, y) < p(x, x) + \varepsilon\}$ (see, e.g., [1, 2, 11]).

Definition 1.1 ([2, 8]). Let (X, p) be a partial metric space.

- (i) A sequence $\{x_n\}$ converges to $x \in X$ whenever $\lim_{n \rightarrow \infty} p(x_n, x) = p(x, x)$;
- (ii) $\{x_n\}$ is called a Cauchy sequence if $\lim_{n, m \rightarrow \infty} p(x_n, x_m)$ exists (and finite);
- (iii) (X, p) is said to be complete if every Cauchy sequence $\{x_n\}$ in X converges, with respect to τ_p , to a point $x \in X$, that is, $\lim_{n, m \rightarrow \infty} p(x_n, x_m) = p(x, x)$.

Definition 1.2. Let (X, p) be a partial metric space and $T : X \rightarrow X$ a selfmap. We say that T is orbitally continuous whenever $\lim_{n \rightarrow \infty} p(x_n, x) = p(x, x)$ implies that $\lim_{n \rightarrow \infty} p(Tx_n, Tx) = p(Tx, Tx)$.

We need the following results.

Lemma 1.1 ([2, 8]). Let (X, p) be a partial metric space. Then

- (a) $\{x_n\}$ is a Cauchy sequence if and only if $\{x_n\}$ is a Cauchy sequence in the metric space (X, d_p) ;
- (b) (X, p) is a complete partial metric space if and only if (X, d_p) is a complete metric space. Moreover, $\lim_{n \rightarrow \infty} d_p(x, x_n) = 0$ if and only if

$$\lim_{n \rightarrow \infty} p(x, x_n) = \lim_{n, m \rightarrow \infty} p(x_n, x_m) = p(x, x).$$

One can easily prove the next results.

Lemma 1.2. Let (X, p) be a partial metric space. Then

- (a) If $p(x, y) = 0$, then $x = y$;
- (b) If $x \neq y$, then $p(x, y) > 0$.

Lemma 1.3. Let (X, p) be a partial metric space and $x_n \rightarrow z$ with $p(z, z) = 0$. Then $\lim_{n \rightarrow \infty} p(x_n, y) = p(z, y)$ for all $y \in X$.

For a partial metric space (X, p) , let $CB(X)$ denote the collection of all nonempty, bounded and closed subsets of X . Let H_p be defined on $CB(X)$ by

$$H_p(A, B) = \max \left\{ \sup_{a \in A} p(a, B), \sup_{b \in B} p(b, A) \right\},$$

where $p(x, A) := \inf\{p(x, y) : y \in A\}$. Note that $p(x, Tx) \leq p(x, y) + p(y, Tx)$ for all $x, y \in X$. In fact, for each $y \in X$ and $a \in Tx$ we have

$$p(x, a) \leq p(x, y) + p(y, a) - p(y, y) \leq p(x, y) + p(y, a)$$

and so $p(x, Tx) = \inf_{a \in Tx} p(x, a) \leq p(x, y) + \inf_{a \in Tx} p(y, a) = p(x, y) + p(y, Tx)$. In this paper, we prove some results on fixed point of multivalued operators on partial metric spaces.

2 Main results

First, we define the non-increasing function $\theta: [0,1) \rightarrow (\frac{1}{2},1)$ by

$$\theta(r) = \begin{cases} \frac{1}{2}, & 0 \leq r \leq \frac{1}{2}(\sqrt{5}-1), \\ \frac{1-r}{r^2}, & \frac{1}{2}(\sqrt{5}-1) \leq r \leq \frac{1}{\sqrt{2}}, \\ \frac{1}{1+r}, & \frac{1}{\sqrt{2}} \leq r < 1. \end{cases}$$

Theorem 2.1. Let (X,p) be a complete partial metric space and $T: X \rightarrow CB(X)$ a multivalued operator. Assume that there exists $r \in [0,1)$ such that for all $x,y \in X$, $\theta(r)p(x,Tx) \leq p(x,y)$ implies $H_p(Tx,Ty) \leq rM(x,y)$, where

$$M(x,y) = \max \left\{ p(x,y), p(x,Tx), \frac{r}{2}p(y,Ty), \frac{p(x,Ty) + p(y,Tx)}{3} \right\}.$$

Then T has a fixed point in X .

Proof. Let $x_0 \in X$ and $x_1 \in Tx_0$. If $x_0 = x_1$, then x_0 is a fixed point of T . Suppose that $x_1 \neq x_0$. Since $\theta(r) \leq 1$, $\theta(r)p(x_0,Tx_0) \leq p(x_0,Tx_0) \leq p(x_0,x_1)$ and so $p(x_1,Tx_1) \leq H_p(Tx_0,Tx_1) \leq rM(x_0,x_1)$, where

$$M(x_0,x_1) = \max \left\{ p(x_0,x_1), p(x_0,Tx_0), \frac{r}{2}p(x_1,Tx_1), \frac{p(x_0,Tx_1) + p(x_1,Tx_0)}{3} \right\}.$$

If $M(x_0,x_1) = \frac{r}{2}p(x_1,Tx_1)$, then $p(x_1,Tx_1) \leq \frac{r^2}{2}p(x_1,Tx_1) < p(x_1,Tx_1)$ which is a contradiction. Thus we should have

$$M(x_0,x_1) = \max \left\{ p(x_0,x_1), \frac{p(x_0,Tx_1) + p(x_1,Tx_0)}{3} \right\}.$$

If $M(x_0,x_1) = p(x_0,x_1)$, then $p(x_1,Tx_1) \leq H_p(Tx_0,Tx_1) \leq rp(x_0,x_1)$.

If $M(x_0,x_1) = \frac{p(x_0,Tx_1) + p(x_1,Tx_0)}{3}$, then

$$M(x_0,x_1) \leq \frac{p(x_0,Tx_1) + p(x_1,x_1)}{3} \leq \frac{p(x_0,x_1) + p(x_1,Tx_1)}{3}.$$

Hence

$$p(x_1,Tx_1) \leq H_p(Tx_0,Tx_1) \leq r \frac{p(x_0,x_1) + p(x_1,Tx_1)}{3} \leq \frac{2r}{3}p(x_0,x_1) + \frac{1}{2}p(x_1,Tx_1).$$

Thus $p(x_1,Tx_1) \leq rp(x_0,x_1)$ and so there exists $x_2 \in Tx_1$ such that

$$p(x_1,x_2) \leq rp(x_0,x_1).$$

By continuing this process, we obtain a sequence $\{x_n\}_{n \geq 0}$ in X such that $x_{n+1} \in Tx_n$ and $p(x_n, x_{n+1}) \leq r^n p(x_0, x_1)$ for all $n \geq 0$. Now, for each $n < m$ we have

$$\begin{aligned} p(x_n, x_m) &\leq \sum_{i=n}^{m-1} p(x_i, x_{i+1}) - \sum_{i=n}^{m-1} p(x_i, x_i) \leq \sum_{i=n}^{m-1} p(x_i, x_{i+1}) \\ &\leq \sum_{i=n}^{m-1} r^i p(x_0, x_1) \leq \frac{r^n}{1-r} p(x_0, x_1). \end{aligned}$$

Hence $\lim_{n,m \rightarrow \infty} p(x_n, x_m) = 0$, that is, $\{x_n\}_{n \geq 0}$ is a Cauchy sequence in (X, p) . Now by Lemma 1.1, $\{x_n\}_{n \geq 0}$ is a Cauchy sequence in (X, d_p) . Since (X, p) is complete, so is (X, d_p) . Thus, there exists $z \in X$ such that $x_n \rightarrow z$ in (X, d_p) . Moreover, by Lemma 1.1 we have

$$p(z, z) = \lim_{n \rightarrow \infty} p(x_n, x) = \lim_{n,m \rightarrow \infty} p(x_n, x_m) = 0.$$

Now, we show that $p(z, Tx) \leq rp(z, x)$ for all $x \in X \setminus \{z\}$. Let $x \in X \setminus \{z\}$. Since $x_n \rightarrow z$ and $p(z, z) = 0$, there exists a natural number n_0 such that $p(z, x_n) \leq \frac{1}{3}p(x, z)$ for all $n \geq n_0$. Then, we have

$$\begin{aligned} \theta(r)p(x_n, Tx_n) &\leq p(x_n, Tx_n) \leq p(x_n, x_{n+1}) \leq p(x_n, z) + p(z, x_{n+1}) - p(z, z) \\ &= p(x_n, z) + p(z, x_{n+1}) \leq \frac{2}{3}p(x, z) = p(x, z) - \frac{1}{3}p(x, z) \\ &\leq p(x, z) - p(z, x_n) \leq p(x, x_n). \end{aligned}$$

Hence $H_p(Tx_n, Tx) \leq rM(x_n, x)$, where

$$M(x_n, x) = \max \left\{ p(x_n, x), p(x_n, Tx_n), \frac{r}{2}p(x, Tx), \frac{p(x, Tx_n) + p(x_n, Tx)}{3} \right\}.$$

It follows that $p(x_{n+1}, Tx) \leq rM(x_n, x)$ for all $n \geq n_0$. If $M(x_n, x) = p(x_n, x)$ or $M(x_n, x) = p(x_n, Tx_n)$, then we obtain $p(x_{n+1}, Tx) \leq rp(x_n, x)$ and so

$$\lim_{n \rightarrow \infty} p(x_{n+1}, Tx) \leq r \lim_{n \rightarrow \infty} p(x_n, x) \Rightarrow p(z, Tx) \leq rp(z, x).$$

If $M(x_n, x) = \frac{r}{2}p(x, Tx)$, then

$$\begin{aligned} p(x_{n+1}, Tx) &\leq \frac{r^2}{2}p(x, Tx) \leq \frac{r^2}{2}[p(x, x_n) + p(x_n, Tx) - p(x_n, x_n)] \\ &\leq \frac{r^2}{2}[p(x, x_n) + p(x_n, Tx)]. \end{aligned}$$

If $0 \leq r \leq \frac{1}{2}(\sqrt{5}-1)$, then $r < 1-r^2$ and so

$$\lim_{n \rightarrow \infty} p(x_{n+1}, Tx) \leq r^2 \lim_{n \rightarrow \infty} [p(x, x_n) + p(x_n, Tx)].$$

Hence

$$rp(z, Tx) \leq (1-r^2)p(z, Tx) \leq r^2p(z, x) \Rightarrow p(z, Tx) \leq rp(z, x).$$

If $\frac{1}{2}(\sqrt{5}-1) \leq r \leq \frac{1}{\sqrt{2}}$ or $\frac{1}{\sqrt{2}} \leq r < 1$, then $1 < 2-r^2$ and so

$$\begin{aligned} \lim_{n \rightarrow \infty} p(x_{n+1}, Tx) &\leq \frac{r^2}{2} \lim_{n \rightarrow \infty} [p(x, x_n) + p(x_n, Tx)], \\ \left(1 - \frac{r^2}{2}\right) p(z, Tx) &\leq r^2 p(z, x) \leq rp(z, x). \end{aligned}$$

Hence, $p(z, Tx) \leq (2-r^2)p(z, Tx) \leq rp(z, x)$. Therefore, $p(z, Tx) \leq rp(z, x)$ holds for all $x \in X \setminus \{z\}$. Now, we show that $H_p(Tx, Tz) \leq rM(x, z)$ for all $x \neq z$, where

$$M(x, z) = \max \left\{ p(z, x), p(x, Tx), \frac{r}{2} p(z, Tz), \frac{p(x, Tz) + p(z, Tx)}{3} \right\}.$$

Let $x \neq z$. If $0 \leq r \leq \frac{1}{2}(\sqrt{5}-1)$, then $\theta(r) = \frac{1}{2}$ and so

$$\begin{aligned} p(x, Tx) &\leq p(x, z) + p(z, Tx) - p(z, z) = p(x, z) + p(z, Tx) \\ &\leq (1+r)p(x, z) \leq 2p(x, z). \end{aligned}$$

Hence $\theta(r)p(x, Tx) \leq p(x, z)$ and so $H_p(Tx, Tz) \leq rM(x, z)$. If $\frac{1}{2}(\sqrt{5}-1) \leq r \leq \frac{1}{\sqrt{2}}$, then $\theta(r) = \frac{1-r}{r^2}$ and so for each $n \geq 1$, there exists $y_n \in Tx$ such that

$$p(z, y_n) \leq p(z, Tx) + \left(r + \frac{1}{n}\right) p(z, x).$$

Thus

$$\begin{aligned} p(x, Tx) &\leq p(x, y_n) \leq p(x, z) + p(z, y_n) - p(z, z) \\ &= p(x, z) + p(z, y_n) \leq p(x, z) + p(z, Tx) + \left(r + \frac{1}{n}\right) p(z, x) \\ &\leq p(x, z) + rp(x, z) + \left(r + \frac{1}{n}\right) p(z, x) = \left(1 + 2r + \frac{1}{n}\right) p(z, x) \end{aligned}$$

for all $n \geq 1$. Hence, $\theta(r)p(x, Tx) \leq \frac{1}{1+2r} p(x, Tx) \leq p(z, x)$ and so

$$H_p(Tx, Tz) \leq rM(x, z).$$

If $\frac{1}{\sqrt{2}} \leq r < 1$, then $\theta(r) = \frac{1}{1+r}$ and so

$$p(x, Tx) \leq p(x, z) + p(z, Tx) - p(z, z) \leq (1+r)p(x, z).$$

Hence $\theta(r)p(x, Tx) = \frac{1}{1+r} p(x, Tx) \leq p(z, x)$ and so $H_p(Tx, Tz) \leq rM(x, z)$. Now put $\mathcal{A} = \{n \geq 1 : x_n = z\}$. First suppose that \mathcal{A} is finite. In this case, by abandon the indices in \mathcal{A} , we have

$$p(z, Tz) = \lim_{n \rightarrow \infty} p(x_{n+1}, Tz) \leq \lim_{n \rightarrow \infty} H_p(Tx_n, Tz) \leq \lim_{n \rightarrow \infty} rM(x_n, z),$$

where

$$M(x_n, z) = \max \left\{ p(x_n, z), p(x_n, Tx_n), \frac{r}{2}p(z, Tz), \frac{p(x_n, Tz) + p(z, Tx_n)}{3} \right\}.$$

If $M(x_n, z) = p(x_n, z)$, then

$$p(z, Tz) \leq \lim_{n \rightarrow \infty} rp(x_n, z) = rp(z, z) = 0.$$

If $M(x_n, z) = p(x_n, Tx_n)$, then

$$p(z, Tz) \leq \lim_{n \rightarrow \infty} rp(x_n, Tx_n) \leq \lim_{n \rightarrow \infty} rp(x_n, x_{n+1}) = 0.$$

If $M(x_n, z) = \frac{r}{2}p(z, Tz)$, then

$$p(z, Tz) \leq \lim_{n \rightarrow \infty} \frac{r^2}{2}p(z, Tz) = \frac{r^2}{2}p(z, Tz).$$

If $M(x_n, z) = \frac{p(x_n, Tz) + p(z, Tx_n)}{3}$, then

$$p(z, Tz) \leq \lim_{n \rightarrow \infty} r \frac{p(x_n, Tz) + p(z, Tx_n)}{3} \leq \lim_{n \rightarrow \infty} r \frac{p(x_n, Tz) + p(z, x_{n+1})}{3} = \frac{r}{3}p(z, Tz).$$

Hence $p(z, Tz) = 0$. Now, suppose that \mathcal{A} is an infinite set. Let $\{x_n\}_{n \in \mathcal{A}} = \{x_{n_k}\}_{k \geq 1}$. In this case, for each $k \geq 1$ we have $p(z, Tz) = p(z, Tx_{n_k}) \leq p(z, x_{n_k+1})$. Thus $p(z, Tz) \leq \lim_{k \rightarrow \infty} p(z, x_{n_k+1}) = 0$. Hence $p(z, Tz) = 0$. Therefore in each case we have $p(z, Tz) = 0$ and so $z \in \overline{Tz} = Tz$. □

The following are some examples for Theorem 2.1.

Example 2.1. Let $X = [0, 1]$, $p(x, y) = \max\{x, y\}$ and $T : X \rightarrow 2^X$ be defined by $Tx = \{\frac{1}{3}x^2\}$ for all $x \in X$. It is easy to check that (X, p) is a complete partial metric space and for $r = \frac{1}{3}$, $\theta(r)p(x, Tx) \leq p(x, y)$ implies $H_p(Tx, Ty) \leq rM(x, y)$ for all $x, y \in X$.

Recently, Haghi, Rezapour and Shahzad showed that researchers should be careful about obtaining fixed point results on partial metric spaces [3]. Next example show that our result does not satisfy in the process of [3].

Example 2.2. Let $X = [0, \infty)$, $p(x, y) = \max\{x, y\}$, $r \in (0, 1)$ and $T_r : X \rightarrow 2^X$ be defined by $T_r x = \{0, rx\}$ for all $x \in X$. It is easy to check that (X, p) is a complete partial metric space and $\theta(r)p(x, Tx) \leq p(x, y)$ implies $H_p(Tx, Ty) \leq rM(x, y)$ for all $x, y \in X$.

Theorem 2.2. Let (X, d) be a complete partial metric space and $T : X \rightarrow CB(X)$ a multivalued operator. Suppose that $\varphi : [0, \infty) \rightarrow [0, \infty)$ is an increasing sublinear function such that $\varphi(0) = 0$, $\varphi(t) < t$ and $\sum_{n=1}^{\infty} \varphi^n(t) < \infty$ for all $t \geq 0$. Also, suppose that $\theta(r)p(x, Tx) \leq p(x, y)$ implies $H_p(Tx, Ty) \leq r\varphi(M(x, y))$ for all $x, y \in X$, where

$$M(x, y) = \max \left\{ p(x, y), p(x, Tx), \frac{1}{2}p(y, Ty), \frac{p(x, Ty) + p(y, Tx)}{3} \right\}.$$

Then T has a fixed point in X .

Proof. Let $x_0 \in X$ and $x_1 \in Tx_0$. If $x_0 = x_1$, then x_0 is a fixed point of T . Suppose that $x_1 \neq x_0$. Since $\theta(r) \leq 1$, $\theta(r)p(x_0, Tx_0) \leq p(x_0, Tx_0) \leq p(x_0, x_1)$ and so $p(x_1, Tx_1) \leq H_p(Tx_0, Tx_1) \leq r\varphi(M(x_0, x_1))$, where

$$M(x_0, x_1) = \max \left\{ p(x_0, x_1), p(x_0, Tx_0), \frac{1}{2}p(x_1, Tx_1), \frac{p(x_0, Tx_1) + p(x_1, Tx_0)}{3} \right\}.$$

If $x_1 \in Tx_1$, then x_1 is a fixed point of T . Let $x_1 \notin Tx_1$. Then $p(x_1, Tx_1) > 0$ and so $M(x_0, x_1) \neq \frac{1}{2}p(x_1, Tx_1)$. Thus,

$$M(x_0, x_1) = \max \left\{ p(x_0, x_1), \frac{p(x_0, Tx_1) + p(x_1, Tx_0)}{3} \right\}.$$

If $M(x_0, x_1) = p(x_0, x_1)$, then $p(x_1, Tx_1) \leq H_p(Tx_0, Tx_1) \leq r\varphi(p(x_0, x_1))$.

If $M(x_0, x_1) = \frac{p(x_0, Tx_1) + p(x_1, Tx_0)}{3}$, then

$$M(x_0, x_1) \leq \frac{p(x_0, Tx_1) + p(x_1, Tx_1)}{3} \leq \frac{p(x_0, x_1) + p(x_1, Tx_1)}{3}$$

and so

$$\begin{aligned} p(x_1, Tx_1) &\leq H_p(Tx_0, Tx_1) \leq r\varphi\left(\frac{p(x_0, x_1) + p(x_1, Tx_1)}{3}\right) \\ &\leq \frac{2r}{3}\varphi(p(x_0, x_1)) + \frac{1}{3}\varphi(p(x_1, Tx_1)). \end{aligned}$$

Hence in each case we obtain $p(x_1, Tx_1) \leq r\varphi(p(x_0, x_1))$. This implies that there exists $x_2 \in Tx_1$ such that $p(x_1, x_2) \leq r\varphi(p(x_0, x_1))$. By continuing this process, we obtain a sequence $\{x_n\}_{n \geq 0}$ in X such that $p(x_n, x_{n+1}) \leq r^n \varphi^n(p(x_0, x_1))$ and $x_{n+1} \in Tx_n$ for all $n \geq 0$. Now, for $n < m$ we have

$$p(x_n, x_m) \leq \sum_{i=n}^{m-1} p(x_i, x_{i+1}) - \sum_{i=n}^{m-1} p(x_i, x_i) \leq \sum_{i=n}^{m-1} p(x_i, x_{i+1}) \leq \sum_{i=n}^{m-1} r^i \varphi^i(p(x_0, x_1)).$$

Hence $\lim_{n, m \rightarrow \infty} p(x_n, x_m) = 0$, that is, $\{x_n\}_{n \geq 0}$ is a Cauchy sequence in (X, p) . Now by Lemma 1.1, $\{x_n\}_{n \geq 0}$ is a Cauchy sequence in (X, d_p) . Since (X, p) is complete, (X, d_p) so is. Thus there exists $z \in X$ such that $x_n \rightarrow z$ in (X, d_p) . Moreover, by Lemma 1.1 we have $p(z, z) = \lim_{n \rightarrow \infty} p(x_n, x) = \lim_{n, m \rightarrow \infty} p(x_n, x_m) = 0$. Now, we show that $p(z, Tx) \leq r\varphi(p(z, x))$ for all $x \in X \setminus \{z\}$. Let $x \in X \setminus \{z\}$. Since $x_n \rightarrow z$ and $p(z, z) = 0$, there exists a natural number n_0 such that $p(z, x_n) \leq \frac{1}{3}p(x, z)$ for all $n \geq n_0$. Then we have

$$\begin{aligned} \theta(r)p(x_n, Tx_n) &\leq p(x_n, Tx_n) \leq p(x_n, x_{n+1}) \leq p(x_n, z) + p(z, x_{n+1}) - p(z, z) \\ &= p(x_n, z) + p(z, x_{n+1}) \leq \frac{2}{3}p(x, z) = p(x, z) - \frac{1}{3}p(x, z) \\ &\leq p(x, z) - p(z, x_n) \leq p(x, x_n). \end{aligned}$$

Hence $H_p(Tx_n, Tx) \leq r\varphi(M(x_n, x))$, where

$$M(x_n, x) = \max \left\{ p(x_n, x), p(x_n, Tx_n), \frac{1}{2}p(x, Tx), \frac{p(x, Tx_n) + p(x_n, Tx)}{3} \right\}.$$

It follows that $p(x_{n+1}, Tx) \leq r\varphi(M(x_n, x))$ for all $n \geq n_0$. If $M(x_n, x) = p(x_n, x)$ or $M(x_n, x) = p(x_n, Tx_n)$, then $p(x_{n+1}, Tx) \leq r\varphi(p(x_n, x))$ and so

$$p(z, Tx) \leq r\varphi(p(z, x)).$$

If $M(x_n, x) = \frac{1}{2}p(x, Tx)$, then

$$\begin{aligned} p(x_{n+1}, Tx) &\leq \frac{r}{2}\varphi(p(x, Tx)) \leq \frac{r}{2}\varphi(p(x, x_n) + p(x_n, Tx) - p(x_n, x_n)) \\ &\leq \frac{r}{2}\varphi(p(x, x_n)) + \frac{1}{2}\varphi(p(x_n, Tx)). \end{aligned}$$

Hence $p(z, Tx) \leq \frac{r}{2}\varphi(p(x, z)) + \frac{1}{2}\varphi(p(z, Tx))$ and so $p(z, Tx) \leq r\varphi(p(x, z))$. If $M(x_n, x) = \frac{p(x, Tx_n) + p(x_n, Tx)}{3}$, then

$$p(x_{n+1}, Tx) \leq r\varphi\left(\frac{p(x, Tx_n) + p(x_n, Tx)}{3}\right) \leq \frac{r}{3}\varphi(p(x, x_{n+1})) + \frac{1}{3}\varphi(p(x_n, Tx)).$$

Hence $p(z, Tx) \leq \frac{r}{3}\varphi(p(x, z)) + \frac{1}{3}p(z, Tx)$ and so $p(z, Tx) \leq r\varphi(p(x, z))$. Now, we show that $H_p(Tx, Tz) \leq r\varphi(M(x, z))$ for all $x \neq z$, where

$$M(x, z) = \max \left\{ p(z, x), p(x, Tx), \frac{1}{2}p(z, Tz), \frac{p(x, Tz) + p(z, Tx)}{3} \right\}.$$

Let $x \neq z$. If $0 \leq r \leq \frac{1}{2}(\sqrt{5}-1)$, then $\theta(r) = \frac{1}{2}$, and so

$$\begin{aligned} p(x, Tx) &\leq p(x, z) + p(z, Tx) - p(z, z) = p(x, z) + p(z, Tx) \\ &\leq p(x, z) + r\varphi(p(x, z)) \leq (1+r)p(x, z) \leq 2p(x, z). \end{aligned}$$

Hence $\theta(r)p(x, Tx) \leq p(x, z)$ and so $H_p(Tx, Tz) \leq rM(x, z)$. If $\frac{1}{2}(\sqrt{5}-1) \leq r \leq \frac{1}{\sqrt{2}}$, then $\theta(r) = \frac{1-r}{r^2}$ and for each $n \geq 1$ there exists $y_n \in Tx$ such that

$$p(z, y_n) \leq p(z, Tx) + \left(r + \frac{1}{n}\right)p(z, x).$$

Thus

$$\begin{aligned} p(x, Tx) &\leq p(x, y_n) \leq p(x, z) + p(z, y_n) - p(z, z) \\ &= p(x, z) + p(z, y_n) \leq p(x, z) + p(z, Tx) + \left(r + \frac{1}{n}\right)p(z, x) \\ &\leq p(x, z) + r\varphi(p(x, z)) + \left(r + \frac{1}{n}\right)p(z, x) < \left(1 + 2r + \frac{1}{n}\right)p(z, x) \end{aligned}$$

for all $n \geq 1$. Hence $\theta(r)p(x, Tx) \leq \frac{1}{1+2r}p(x, Tx) \leq p(z, x)$ and so

$$H_p(Tx, Tz) \leq r\varphi(M(x, z)).$$

If $\frac{1}{\sqrt{2}} \leq r < 1$, then $\theta(r) = \frac{1}{1+r}$ and so

$$p(x, Tx) \leq p(x, z) + p(z, Tx) - p(z, z) \leq p(x, z) + r\varphi(p(z, x)) \leq (1+r)p(x, z).$$

Hence, $\theta(r)p(x, Tx) = \frac{1}{1+r}p(x, Tx) \leq p(z, x)$ and so $H_p(Tx, Tz) \leq r\varphi(M(x, z))$. Now, put $\mathcal{A} = \{n \geq 1 : x_n = z\}$. First, suppose that \mathcal{A} is finite. In this case, by abandon the indices in \mathcal{A} , we have

$$p(z, Tz) = \lim_{n \rightarrow \infty} p(x_{n+1}, Tz) \leq \lim_{n \rightarrow \infty} H_p(Tx_n, Tz) \leq \lim_{n \rightarrow \infty} r\varphi(M(x_n, z)),$$

where

$$M(x_n, z) = \max \left\{ p(x_n, z), p(x_n, Tx_n), \frac{1}{2}p(z, Tz), \frac{p(x_n, Tz) + p(z, Tx_n)}{3} \right\}.$$

If $M(x_n, z) = p(x_n, z)$, then

$$p(z, Tz) \leq \lim_{n \rightarrow \infty} r\varphi(p(x_n, z)) = r\varphi(p(z, z)) = 0.$$

If $M(x_n, z) = p(x_n, Tx_n)$, then

$$p(z, Tz) \leq \lim_{n \rightarrow \infty} r\varphi(p(x_n, Tx_n)) \leq \lim_{n \rightarrow \infty} r\varphi(p(x_n, x_{n+1})) = 0.$$

If $M(x_n, z) = \frac{1}{2}p(z, Tz)$, then

$$p(z, Tz) \leq \lim_{n \rightarrow \infty} \frac{r}{2}\varphi(p(z, Tz)) = \frac{r}{2}\varphi(p(z, Tz)).$$

If $M(x_n, z) = \frac{p(x_n, Tz) + p(z, Tx_n)}{3}$, then

$$\begin{aligned} p(z, Tz) &\leq \lim_{n \rightarrow \infty} r\varphi\left(\frac{p(x_n, Tz) + p(z, Tx_n)}{3}\right) \\ &\leq \lim_{n \rightarrow \infty} \frac{r}{3}\varphi(p(x_n, Tz)) + \frac{1}{3}\varphi(p(z, x_{n+1})) = \frac{r}{3}\varphi(p(z, Tz)). \end{aligned}$$

Hence $p(z, Tz) = 0$. Now, suppose that \mathcal{A} is an infinite set. Let $\{x_n\}_{n \in \mathcal{A}} = \{x_{n_k}\}_{k \geq 1}$. In this case, for each $k \geq 1$ we have $p(z, Tz) = p(z, Tx_{n_k}) \leq p(z, x_{n_k+1})$. Thus, $p(z, Tz) \leq \lim_{k \rightarrow \infty} p(z, x_{n_k+1}) = 0$. Hence $p(z, Tz) = 0$. Therefore, in each case we have $p(z, Tz) = 0$ and so $z \in \overline{Tz} = Tz$. \square

By using a similar proof, we can provide the next result.

Theorem 2.3. Let (X, p) be a complete partial metric space, $T : X \rightarrow CB(X)$ a multivalued operator and $F : [0, \infty) \rightarrow [0, \infty)$ an increasing subadditive continuous function such that $F(0) = 0$ and $F(t) > 0$ for all $t \in [0, \infty)$. Also, suppose that $\theta(r)F(p(x, Tx)) \leq F(p(x, y))$ implies $F(H_p(Tx, Ty)) \leq rF(M(x, y))$ for all $x, y \in X$, where

$$M(x, y) = \max \left\{ p(x, y), p(x, Tx), \frac{r}{2}p(y, Ty), \frac{p(x, Ty) + p(y, Tx)}{3} \right\}.$$

Then T has a fixed point.

Corollary 2.1. Let (X, d) be a complete partial metric space, $T : X \rightarrow CB(X)$ a multivalued operator and $\phi : [0, \infty) \rightarrow [0, \infty)$ an integrable function such that

$$\int_0^\varepsilon \phi(t) dt > 0$$

for all $t \geq 0$ and $\varepsilon > 0$. Suppose that

$$\int_0^{p(x, Tx)} \phi(t) dt \leq \int_0^{p(x, y)} \phi(t) dt$$

implies

$$\int_0^{H_p(Tx, Ty)} \phi(t) dt \leq r \int_0^{M(x, y)} \phi(t) dt$$

for all $x, y \in X$, where

$$M(x, y) = \max \left\{ p(x, y), p(x, Tx), \frac{r}{2}p(y, Ty), \frac{p(x, Ty) + p(y, Tx)}{3} \right\}.$$

Then T has a fixed point.

Acknowledgments

This work was supported by Azarbaijan Shahid Madani University. The authors express their gratitude to the referees for their helpful suggestions which improved the final version of this paper.

References

- [1] Altun, I., Sola, F. and Simsek, H., Generalized contractions on partial metric spaces, *Topol. Appl.*, 157 (2010), 2778-2785.
- [2] Altun, I. and Erduran, A., Fixed point theorems for monotone mappings on partial metric spaces, *Fixed Point Theory Appl.*, (2011) Article ID 508730, 10 pages.

- [3] Haghi, R. H., Rezapour, Sh. and Shahzad, N., Be careful on partial metric fixed point results, *Topol. Appl.*, 160 (2013), 450-454.
- [4] Heckmann, R., Approximation of metric spaces by partial metric spaces, *Appl. Categ. Structures*, 7 (1999), 71-83.
- [5] Kopperman, R. D., Matthews, S. G. and Pajoohesh, H., What do partial metrics represent, Notes Distributed at the 19th Summer Conference on Topology and its Applications, University of CapeTown (2004).
- [6] Kopperman, R. D., Matthews, S. G. and Pajoohesh, H., Partial metrizable in value quantales, *Appl. General Topol.*, 5 (2004), 115-127.
- [7] Künzi, H. P. A., Pajoohesh, H. and Schellekens, M. P., Partial quasi-metrics, *Theor. Computer Science*, 365:3 (2006), 237-246.
- [8] Matthews, S. G., Partial metric topology, *Papers on General Topology and Applications*, (Flushing, NY, 1992) 183-197, *Ann. New York Acad. Sci.*, 728, New York Acad. Sci., New York (1994).
- [9] Oltra, S. and Valero, O., Banach's fixed point theorem for partial metric spaces, *Rend. Istit. Mat. Univ. Trieste*, 36:1-2 (2004), 17-26.
- [10] O'Neill, S. J., Two topologies are better than one, Tech. report, University of Warwick (1995), <http://www.dcs.warwick.ac.uk/reports/283.html>.
- [11] Romaguera, S., A Kirk type characterization of completeness for partial metric spaces, *Fixed Point Theory Appl.* (2010) Article ID 493298, 6 pages.
- [12] Romaguera, S. and Schellekens, M., Duality and quasi-normability for complexity spaces, *Appl. General Topol.*, 3 (2002), 91-112.
- [13] Schellekens, M. P., A characterization of partial metrizable: domains are quantifiable, *Theor. Computer Science*, 3 (2002), 91-112.
- [14] Valero, O., On banach fixed point theorems for partial metric spaces, *Appl. General Topol.*, 6 (2005), 229-240.